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1. ¹�7VÞ2Ñ{�, à�FóõÏ3gøÄ9��c�

(i) ���Xm7Vó
15�^£;

(ii) ���Xm7Vó��TÂ�

2. 'A, BÞY¦#
�5;3{×Ýf�, N�A{Ý^£
0.6, B{Ý^£
0.4,

&�f����
8!}ñ��X�f�Xm�ó�

(i) �OX�^£Û�Ðóf ;

(ii) �OX�5µÐóF ;

(iii) �OE(X);

(iv) �5½OACBÎÿf��^£�

3. 'XbΓ(α, β)5µ, Ybχ2
n5µ�

(i) �OE(Xk), ¬��h�TÂD3`kÝP�;

(ii) �Oφ(s) = E(e−sX), s ≥ 0;

(iii) �¿à(i)OE(1/Y ), ;��, ¬��h�TÂD3`nÝP�;

(iv) �¿à(i)OE(Y 3), ;��, ¬��h�TÂD3`nÝP�;

(v) E(tY ), 0 < t ≤ 1�

4. 'Xb�0���Ge(p)5µ, 0 < p < 1�ê'YbE(λ)5µ�

(i) �OP (X ≥ k), Í�k ≥ 0
×Jó; (55)

(ii) �OVar(Y ); (55)

(iii) �Z = [Y ], Í�[·]�t�JóÐó, �OZ�^£Û�Ðó, ¬¼�h
£×
ð�5µ, ¢ó
¢�(105)

5. 'XbN (µ, σ2)5µ�

(i) �OM(t) = E(etX), t ∈ R;

(ii) �¿à(i)OE(X);

(iii) �¿à(i)OVar(X);

(iv) 	µ = 0, �OE(X2k−1), Í�k
×ÑJó�


